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XmasToy mytoy=new XmasToy(13200,"COSAEL QOI w7
N H [N]
System.out.println(mytoy.getXmasToy());

}
¥

(R 3] RICHRT String VS RD2DDATI T
DEREER U, strl1 & str2 [CBINULIERE, (1)~(7)
DBWHZERITULESTOBEENDZEZ RS,

(%525t 14)

String stril=new String("Java");

String str2="1+2";

(1) System.out.println(strl.index0f('a"'));

(2) System.out.println(strl.lastIndex0f('a"));
(3) System.out.println(strl.toUpperCase());
(4) System.out.println(strl.substring(2));

(5) System.out.println(str2.charAt(1));

(6) System.out.println(str2.length());

(7) System.out.println(Math.max(1,2));
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class Gift{

private int price;

public Gift(){ )
this.price=-1;

}

public Gift(int price){
this.price=price;

} L

public String getGift(String pre){ [F]

[A]
[B]

[c]

r (D]
[E]

return pre+"F 7 b, "+(price==-1?"*":price)+"MA";
}
}

class XmasToy extends Gift{ [G]

private String toy;

private String kids;

public XmasToy(String t,String n){
Y [H]
kids=n;

}

public XmasToy(int p,String t.String n){

super(p);
toy=t;

[1]
(3]

kids=n;
}
public String getXmasToy(__){
return toy+”,”+kids+”5 % A, +getGift(“Xmas”);
}
}

class Intermediate2{

(K]
[L]

public static void main(String[] args){ [M]

class Person{
public static int num=0;
public int age;
public Person(int a){
this.age=a; [1]
Person.num++; [2]
}
public static void showNum(){
System.out.println(Person.num); [3]
System.out.println(this.age); [4]

}
public void show(){

[5]
(6]

System.out.println(Person.num);
System.out.println(this.age);
}
}
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Car mycar=new Car();
(1) mycar.setCar();
mycar.showCar();
(2) mycar.setCar(1234);
mycar.showCar();
(3) mycar.setCar(32.5);
mycar.showCar();
(4) mycar.setCar(4567,65.2);
mycar.showCar();
EO—F3

private int num;

private double gas;

public void setCar(){

num=-1;
gas=-1.0;
}

public void setCar(int n){

setCar();
num=n;

}

public void setCar(double g){

setCar();
gas=g;
}

public void setCar(int n,double g){

num=n;
gas=g;
}

public void showCar(){

System.out.println(num+","+gas);

}
}
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class Car{




